

$$\begin{aligned}
 A(n) &= C_0(1+i)^n \\
 \left(1 + \frac{i^{(p)}}{p}\right)^p &= 1+i \\
 i^{(p)} &= p\left((1+i)^{1/p} - 1\right) \\
 v &= \frac{1}{1+i} \\
 \delta &= \ln(1+i) \\
 e^\delta &= 1+i \\
 v(t) &= e^{-\delta t} \\
 d &= \frac{i}{1+i} \\
 i &= \frac{d}{1-d} \\
 v &= 1-d \\
 d^{(p)} &= p\left(1 - (1+i)^{-1/p}\right) \\
 \frac{1}{d^{(p)}} - \frac{1}{i^{(p)}} &= \frac{1}{p} \\
 a_{\bar{n}|} &= v + v^2 + \dots + v^n = v \frac{1-v^n}{1-v} = \frac{1-v^n}{i} \\
 \ddot{a}_{\bar{n}|} &= 1 + v + \dots + v^{n-1} = \frac{1-v^n}{1-v} = \frac{1-v^n}{d} \\
 \ddot{a}_{\bar{n}|} &= (1+i)a_{\bar{n}|} \\
 \ddot{a}_{\bar{n}|} &= 1 + a_{\overline{n-1}|} \\
 a_{\infty|} &= \lim_{n \rightarrow \infty} a_{\bar{n}|} = \frac{1}{i} \\
 \ddot{a}_{\infty|} &= \lim_{n \rightarrow \infty} \ddot{a}_{\bar{n}|} = \frac{1}{d} \\
 S_{\bar{n}|} &= \frac{(1+i)^n - 1}{i} \\
 \ddot{S}_{\bar{n}|} &= \frac{(1+i)^n - 1}{d} \\
 m|a_{\bar{n}|} &= a_{\overline{n+m}|} - a_{\bar{m}|} \\
 m|\ddot{a}_{\bar{n}|} &= \ddot{a}_{\overline{n+m}|} - \ddot{a}_{\bar{m}|} \\
 (Ia)_{\bar{n}|} &= \frac{\ddot{a}_{\bar{n}|} - nv^n}{i} \\
 (I\ddot{a})_{\bar{n}|} &= \frac{\ddot{a}_{\bar{n}|} - nv^n}{d} \\
 a_{\bar{n}|}^{(p)} &= \frac{1}{p}v^{1/p} + \frac{1}{p}(v^{1/p})^2 + \dots + \frac{1}{p}(v^{1/p})^{np} = \frac{1-v^n}{i^{(p)}} \\
 a_{\bar{n}|}^{(p)} &= \frac{i}{i^{(p)}}a_{\bar{n}|} \\
 \ddot{a}_{\bar{n}|}^{(p)} &= \frac{1}{p} \sum_{k=0}^{np-1} (v^{1/p})^k = \frac{1-v^n}{p[1-v^{1/p}]} = \frac{1-v^n}{d^{(p)}} \\
 \ddot{a}_{\bar{n}|}^{(p)} &= \frac{d}{d^{(p)}} \ddot{a}_{\bar{n}|} \\
 \lim_{p \rightarrow \infty} a_{\bar{n}|}^{(p)} &= \lim_{p \rightarrow \infty} \ddot{a}_{\bar{n}|}^{(p)} = \frac{1-v^n}{\delta}
 \end{aligned}$$